EARAROBREBRT —5 XN—ZXBISH—F

2023558128 (&) 20AH5H

12R

h—SXE B3= Y5%R—fi&

‘(fﬁ} W ‘I%EH?’JFE‘?] ~ | 5 100 =

[AE%] 17 :2,400,000 § ~ 237&:960,000 @ . 37&:600,000H  475:360,000 ™ . 53&:240,000 &

B\ RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
<, puay EEER 143, -2-2- . - FeHFAAsh  (1)\hE)
1111115 Y v T "4 56.05)\ 1(4_3)4 xr2 | 385 ! (5_22?; ==
ROUIAI—2 B:Fv—L94—7 RS
= i [ I KEEZ 44, -1-1- . - ]|AREZ (KH)
7 2| SV EVYRNR # 5 %0 (13414/21) 93 2 ff) ZREE
RRSVEVYR B:RFFFRTY S YFAHUKIS
3 \ v 5 | HEY 1:44.6 4-3-3-3 [39.1| — 4 489 | HPIEA (IViR)
3/g|9|EO—V 56.0 2 1/2) 1) |TEESE
R:TUA—=Y B:FTAFTVVT F—U— - Iv I\ - T7—LBRR
S — it o6 | EMEE 1:45.1 8-9-8-7 |38.5| - 5 | 445 | FEAE (KH)
418 5| MLbRI—/ #53.0 @12 Ga) | ) T7-2REYIY
R:FAIWNI7FY— BIRARIAMUT FHI7—L
R o LIl 5+ 145, -6-7- . - YETAZ (Vi)
5 3 NI FaRo 5 aa 1(34/54)3 5-6-7-6 | 39.3 6 (4+819) %m £l
R:€rv/0704 #:RvyaR-—=)b Bk | |145045%
=0 =5 4 g | BIHEHR 1:45.7 7-7-4-4 | 40.2 | — 8 494 |HERRE ()W)
6|88 71F=—FTY 5.0 @ 3 |HBET
R:Id—VRPUa—L B:LAFIILY ST E RIS
S, an BERA 146. -5-6- . - WRE (KH)
70N 4| 770V Y v— 4| BES L7 oo |08 ’ (3?2) ) ZERF—TI
RN—EVIv— §:770Ny SV =IBHS
== t 6 | BIIEN 1:47.3 3-4-5-8 | 41.4| — 7 | 493 |/NEEFEE (IW)
1 - BESED ! .0 3 vy |BIEZ
RiYyAHLO B:NLITY LASHET7—L
. pe—— 9. 8- 9| - AREEZ )
917|7 | 7O08RYD o6 o (194!(9;) 9-8-9-9 | 42.9 9 (5&0) L2EE
RiI7—IUT7Y B:DAILRKRR (e e
@ 11— —‘@BIEfI
10—7+— 2,1,6,9,3,4,8,5,7
20—7F— 2,1,9,6,4,3,8,7,5
30—7— 2,1,9,8,6,4,3,5,7
43—F— 2,1,9,8,4,3,5,6,7
0 ILRE
BB 1 190 AR 1-2 1509 AN 1-2 210 3EE 1-2-9 3904
B B 1 100H 1-9 1704 =} 1-2 500 3EE 1-2-9 1,260/
2 110 2-9 2904 5 & 1-2 260
9 1409 BB 1-2 430

ABIC OV TRUTEREERRODDZE. THRIIZEL.




